250

50

1 600
1100

SKALA 1

WIDOK Z BOKU MOSTU OD G.W.

250

m
.nq..mn -
= N
[ORN) -
St 3|
o — M W:S MWS w
o |4 R
m ] 5% 11 4 4
§ SN 3
g Ma = 59 g o ﬂ
z . g =0 |f 8 MW.m
v < £ . o= il 2 M
I E23| evil 525 F & K
= 2 SHEIH 59 mu mwm.._
> A L BERELE
selgEESf - (JEme EE(E)
< , 3 m _[gs leBd
> E 7 g |8
i m Mh Pmm o m..un
! z 2] Ef: | =
S8 3| = 2
£
Mﬁ 1 M
[T mx
.| _ — O N R _ _nm
\ s T
1l [ TofIIIiIiiiize
[ I AN 1 | I S
7THIH T ) [CIIIIIIIIIC-
—HHHH I
| \ [CCCTIIIIioT-
| } [CIIIIIIIIIs
| g [CCIIIITIoIT-
S e
| | = foIrzooiiiie
{0l L F e e
- = = " Mw
El | -
< N £ <
T — SIoors
o ool
b 7 -
l— HLH [ | T - - - - - - - — — — =
1 | @ p-— - -—-S--F T T T T T T T T T \\&
a | =
m b Mw
m o L N =
N m
N 0
U HL S 0bT oro0 e
T s
b 5 i
— mv
o g &
B B J : 1
~ ¥ £
2 - f | vl vl @ = b 8§
M — F T 28 9 - mm
mwmmm B i AL
uymzﬁ o Dw
mwmm L Do
mm...m o 0
wwmmm LL °
o] mmm
il mwwm
© Il
=B
o 1r
. K
I I > 1
| T
[
|
,, |
o > — N N — — — N N N J—
— HHH I - ==
i | s
[
|
bl | - -
S
1YR
R
| =
| e B
| I N >
i \ .ym -II+ IIIIIII .TW
| T
f Sl
‘ | fTooooToIIios
3 I=HIHE [JIIIIIIIIIT
HER SN N e — o [IIIIIIIIIIC
i O Il | | HHHHHHW
E | | [TIIooIIiiiz
I \ AR [CCCIICIITIT-
0rq T | __________ >
onig [
Si= L1 m 3 i
X — ] m. m M
7 5 mmm mm i
z 2] Ef: | = £l
S 0 © - 0
~N ~N (] < -]
10}
PR I
I | =
S 1 ,
N |
/T 5
|m




